



Selbstenergie des Strahlungsfeldes  
 Nullpunkternergie

$$M = E + iH,$$

$$M^\dagger = E - iH.$$

$$M^\dagger M = E^2 + H^2 + i(EH - HE)$$

$$M = \sum b_{\lambda\mu\nu} e^{i(\lambda x + \mu y + \nu z)}$$

$$M^\dagger = \sum b_{\lambda\mu\nu}^* e^{-i(\lambda x + \mu y + \nu z)}$$

$$\int M^\dagger M dV = \sum b_{\lambda\mu\nu}^* b_{\lambda\mu\nu}$$

$$\begin{cases} b = p + iq \\ b^\dagger = p - iq \end{cases} \Rightarrow \begin{cases} b^\dagger b = p^2 + q^2 \\ b b^\dagger = p^2 + q^2 + \frac{\hbar}{i\omega} \end{cases}$$

$$E = \sum b_{\lambda\mu\nu} \cos(\lambda x + \mu y + \nu z) + \sum b_{\lambda\mu\nu}^* \cos(\lambda x + \mu y + \nu z)$$

$$H = \sum b_{\lambda\mu\nu} \sin(\lambda x + \mu y + \nu z) + \sum b_{\lambda\mu\nu}^* \sin(\lambda x + \mu y + \nu z)$$

$$[E, H] = \sum (b_{\lambda\mu\nu}^2 - b_{\lambda\mu\nu}^2) \sin^2(\lambda x + \mu y + \nu z) - \sum (b_{\lambda\mu\nu}^2 - b_{\lambda\mu\nu}^2) \cos^2(\lambda x + \mu y + \nu z)$$

$q_{\lambda\mu\nu}^2 = p_{\lambda\mu\nu}^2$   
 $(E, H) = 0$  or  $p, q = 0$   
 $(E, H) = 0$  or  $p, q = 0$  classical +  $\hbar$ , limit  $\hbar \rightarrow 0$   
 $q_{\lambda\mu\nu} = p_{\lambda\mu\nu}$   
 $(E, H) = 0$   
 $q_{\lambda\mu\nu} = p_{\lambda\mu\nu}$

$$M^\dagger M - M M^\dagger = 2\delta(x, x')$$

$$\sum_{r=1,2,3} (p_r^2 + q_r^2 - \frac{\hbar}{2\omega})$$

$$G(q^{\mu}, q^{\nu}) = \sum$$

$$q_n^{(\mu)} = \lambda \int K^{(\mu, \nu)} q_n^{(\nu)}$$

$$\sum_n \frac{q_n^{(\mu)} q_n^{(\nu)}}{\lambda_n} = \sum_n \int q_n^{(\mu)} K^{(\mu, \nu)}(p, p') q_n^{(\nu)}$$

$$= G(p, p')$$

$$\psi = \sum_l b_l \cos \theta_l \sin \theta_l$$

$$\psi^\dagger = \sum_l b_l^\dagger \cos \theta_l \sin \theta_l$$

$$\int \psi^\dagger \psi d\omega = \sum_l b_l^\dagger b_l$$

$$[\Sigma p_m, \vec{S} \cdot \vec{q}] = \frac{\hbar}{m\alpha} \vec{q}$$

$$E_{\text{non-rel}} = i\hbar \frac{\partial}{\partial t}$$

$$E_{\text{rel}} = i\hbar \frac{\partial}{\partial t} + \dots$$

$$\psi = E + i\hbar$$

$$E = p \cos \theta + q \sin \theta$$

$$H = p \sin \theta + q \cos \theta$$

$$E = p \cos kx \cos by + m\alpha z$$

$$= p \cos kx \cos by \cos m\alpha z$$

$$= p \sin kx \cos by \sin m\alpha z$$

$$= p \sin kx \sin by \cos m\alpha z$$

$$= q \cos kx \sin by \sin m\alpha z$$

$(\psi^\dagger \psi) \Phi$

On Angular Momentum in the theory of H.F.S. of one electron spectrum <sup>recently</sup> has been treated (by Fermi and ~~Dirac~~) by means of the relativistic ~~wave~~ equation of Dirac. <sup>We wish to show that in this case, the momenta of</sup> electron <sup>are</sup> constant, but the total angular momenta <sup>as well as</sup> consisting of ~~the~~ electronic angular momenta of the electron <sup>are</sup> constant. <sup>The proof is</sup> of nuclear spin <sup>are</sup> ~~not~~ <sup>still</sup> conserved. <sup>very simple.</sup> According to <sup>the</sup> ordinary notation, the Hamiltonian <sup>in this case is</sup> written in the form <sup>by</sup> the form 
$$H = \dots$$
 In this case the angular momenta of the electron <sup>commute with the terms of the</sup> Hamiltonian, except the nuclear spin <sup>-term</sup>.

which does not commute, for

So the angular momenta of ~~the~~ electron does not commute.  
Now we consider the quantity

~~from which~~ for which the formula

~~this~~ is easily deduced.

Of course, the orbital angular momenta of the nucleus does not ~~appear~~ appear  
It is fixed in the centre, but ~~still~~ still the spin  
in this case ~~for~~ angular momenta take their place ~~in~~ in the total angular momenta.  
angular momenta take <sup>their</sup> place <sup>in</sup> in the total angular momenta.  
expression of the